=3
!

'MEIR AJOSARJA

. 341 16.08.1993
“KULJETTAJILLE 8341 9341
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1301 AJO-OHJELMA 1302
VUORO MM IK IK VUORO MM IK IK
i 6.15 - 6:21] = T 16 3 9.35 - | 9.41| - 10:26
9 F.18 — | F«28 - 8.16 6 10.25 - [10.31| - 11.18
2 8.15 - | 8.21 - (K)9.06 1 11.25 = |11.31| = 12.16
2 12.26 - 1321
(K)=SUORITTAA KYTKENNAN NO. 14
2.50 4:39 + 0.10 = 7.39
( 6.16) 6.21 - 9.06 ( 9.36) 9.41 - 13,21 (1%.15)
IK IK IK IK
METRON AJOSARJA 341 16.08.1993
KULJETTAJILLE 8341 9341
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1303 AJO-OHJELMA 1304
VUORO IK IK VUORO MM IK IK MV
3 12.:36 ST (v Y | 2 14.06| -(K)15.01
9 15.00 - |15.06} - 16.01
3 16.00 - |16.06| - 17.01
5 17.05 - |17.11| -(K)17.58
5 + LVP:T 18.30 - 18.35
(K)=SUORITTAA KYTKENNAN NO. 21
(K)=SUORITTAA KYTKENNAN NO. 44
AVUSTAA KYTKENNOISSA NO. 45 - 49
0.10 +  2.40 4.49 — . RS
(19.51) 12.36 = 13.31 [ 14..01) 14.06 - 18.35 (18.50)
IK IK IK MV



METRON AJOSARJA

371 16.08.1993
~“KULJETTAJILLE 1371 3371 5371
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1001 AJO-OHJELMA 1002
VUORO MV MM RL VUORO MM IK IK
AUKIAJO 5.00 -(K)5.16 = 5535 5] 10515 = 1021 = 11506
+ LVP:T
4 RL MM IK 6 1116 = 1211
4 5.38 -(K)6.05 - 7.06
MM IK
7 75105 = i % B | - 8.06
il 8.05 - | 8.11| -(K) 8.56
74 8+55. = 9.01 = 9.46
(K)=SUORITTAA KYTKENNAN NO. 1
(K) =SUORITTAA KYTKENNAN NO. 4
(K)=SUORITTAA KYTKENNAN NO. 13
4.51 343 F o 0L10 = 8.44
( 4.55) 5.00 -  9.46 (10.16) 10.21 = 12.1% . (93.59)
MV IK IK IK
METRON AJOSARJA 371 16.08,1993
KULJETTAJILLE i 1371 3371 537 1:
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1003 AJO-OHJELMA 1004
VUORO MM IK IK VUORO MM IK IK RL
8 15..10Q0 = |215.16 - 16.11 6 19.46] - 20.41
5 16.10 = |16.16 = 17531 4 20,45 = |20.,51f = 21.06
10 17.10 - |17.16| -(K)18.11 RL RL
4 18.16 = 19.11 12 24 A8 = 22506
9 22:.18| = 23.06
(K) =SUORITTAA KYTKENNAN NO. 41 RL MM MV
(K)=SUORITTAA KYTKENNAN NO. 58 ->| 3(+9) [23.18|- 23.42 -(K)23.54
010 =k 4.14 4.19 = 8.43
(14.57) 15416 = 19:31 (19.41) 19.46 = 23,954 (24.00)
IK IK IK MV



METRON AJOSARJA 371 16.08.1993 A
KULJETTAJILLE 1371 3371 5371
ARKISIN / AIKAINEN VUORO

AJO-OHJELMA 1001 AJO-OHJELMA 1002

VUORO MV MM RL VUORO MM IK IK
AUKIAJO 4.55 -(K)5.11 - 5.30 5 16.15 = |a@.21| = 11.06
+ LVP:T

4 RL MM IK 6 11.16| - 12,494

4 5.38 -(K)6.05 - 7.06

MM IK

7 F08 = | Tuid] = 8.06

1. 8.05 - | 8.11| -(K) 8.56

T 8.55 - | 9.01| - 9.46

(K)=SUORITTAA KYTKENNAN NO. 1

(K) =SUORITTAA KYTKENNAN NO. 4

(K)=SUORITTAA KYTKENNAN NO. 13

4.56 + 938 - <& 010 = Bk
( 4.50) 4.55 -  9.46 (10:18) 10.21 = 42:11. [13.5%)
MV IK IK IK
METRON AJOSARJA 371 16.08.1993
KULJETTAJILLE 1371 3371 5371
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1003 AJO-OHJELMA 1004
VUORO MM IK IK VUORO MM IK IK RL
8 15.10 - |15.16| - 16.11 6 19.46| - 20.41
5 16.10 - [16.16| - 17.11 4 20.45 - |20.51| - 21.06
10 1740 = 137.16| =(Kjig.A1 RL RL
4 18.16| - 19.11 12 21,18} = 22.086
9 22.18| - 23.06
(K)=SUORITTAA KYTKENNAN NO. 41 RL MM MV
(K) =SUORITTAA KYTKENNAN NO. 58 ->| 3(+9) |23.18|- 23.42 -(K)23.54
0.10 4+ 4,14 + 4.19 = 8.43
(14.57) 15.16 - 19.11 (19.41) 19.46 - 23.54 (24.00)

IK IK IK MV



METRON AJOSARJA 372 16.08.1993
-KULJETTAJILLE 1372 3372 5372
ARKISIN / ATIKAINEN VUORO
AJO-OHJELMA 1005 AJO-OHJELMA 1006
VUORO MV IK MM RL VUORO MM IK IK
1 5.09 - 5.14 - 5.25 - 5.46 9 9.05 - | 9.11| - 9.56
RL IK 2 9.55 - |10.01| -  10.46
2 5.58| =-(K) 6.31 9 10.45 - |10.51| - 11.36
MM IK
3 6.35 - | 6.41| - 7.36
10 %:35 = | 7.41] = 8.36
(K) =SUORITTAA KYTKENNAN NO. 6
< P50 5.02 + 0.10 = 8.44
( 5.04) 5.09 - 8.36 ( 9.06) 9.11 - 11.36 (14.08)
MV IK IK IK
METRON AJOSARJA 372 16.08.1993
KULJETTAJILLE _ 1372 3372 5372
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1007 AJO-OHJELMA 1008
VUORO MM IK IK VUORO MM IK IK RL
1 14.45 - |14.51| -(XK)15.46 9 18.36 0 5
9 15.55 - |16.01| - 16.56 3 19.36 90,31
8 17.00 - |17.06| =-(K)18.01 6 20:35 = |20.41 20.56
RL RL MM IK
(K) =SUORITTAA KYTKENNAN NO. 36 4 21.08|- 21.56
(K) =SUORITTAA KYTKENNAN NO. 40 PP 22.08|- 22.56
(K) =SUORITTAA KYTKENNAN NO. 57 -> 9 23.08 |- 23.32 -(K)23.37
OL18 4 - 5,98 5.11 = 8.43
(14.39) 14.51 - 18.01 (E8-31) 18.36 = 23.37 {23.42)
IK IK IK IK



METRON AJOSARJA 373 16.08.1993
"KULJETTAJILLE 1373 3373 5373
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1009 AJO-OHJELMA 1010
VUORO MV IK MM RL VUORO MM IK IK
2 5.19 - 5.24 - 5.35 - 5.56 3 10.05 - |10.11| - 10.56
RL IK 8 10.55 - |11.01| -  11.46
3 6.08 -(K) 6.41 y 12.15 - |12.21| - 13.06
MM IK
5 6.45 - | 6.51| - 7.46
13 7.45 - | 7.51| - 8.46
6 8.45 - | 8.51 - 9.36
(K)=SUORITTAA KYTKENNAN NO. 7
4,22 4,12 4+ 0«10 = 8.44
( 5.14) 5.19 - 9.36 (10.06) Totl = 48.06 (14.18)
MV IK IK IK
METRON AJOSARJA 373 16.08.1993
KULJETTAJILLE 1373 3373 5373
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1011 AJO-OHJELMA 1012
VUORO MM IK IK VUORO MM IK IK RL
12 (K)14.56 - 1551 18 18.26 19.21
2 15.50 - [15.56 - 16.51 2 19.26 20.21
9 16.50 - [16.56 -(K)17.51 3 2025 = |2D.31 20.46
RL RL MM MV
(K)=SUORITTAA KYTKENNAN NO. 26 6 20.58 |- 21.46
(K) =SUORITTAA KYTKENNAN NO. 38 4 21.58|- 22.46
(K) =SUORITTAA KYTKENNAN NO. 56 ->|12(+4) |22.58]|- 23.22 -(K)23.34
<305 s R R 5.19 =  8.43
(14.37) 14.56 - 17.51 (L8.21) 18.36 = Z3.34 {(23.40):
IK IK IK MV



METRON AJOSARJA 374 16.08.1993
"KULJETTAJILLE 1374 3374 5374
ARKISIN / AIKAINEN VUORO

AJO-OHJELMA 1013 AJO-OHJELMA 1014
VUORO MV IK MM RL VUORO MM IK IK
3 5.29 - 5.34-(K)5.45- 6.06 7 9.46 - 10.41
RL IK 2 10.46 R i . |
5 6.18| -(K) 6.51 3 11.45 - |11.51| - 12.36
MM IK IK 8 12,35 = [12.41] =  13.26
6 6.55 - | 7.01| - 756
MM IK IK MV
4 7.55 -|8.01|- 8.42 - 8.47
SIIRTYMINEN ITAKESKUKSEEN
(K)=SUORITTAA KYTKENNAN NO. 2
(K)=SUORITTAA KYTKENNAN NO. 8

§.43 =t 4.51 # 0.10 = .44
( 5.24) 5.29 - 8.47 (9.07) C O ALY 9.46 - 13.26 (14.32)
MV MV IK IK IK
METRON AJOSARJA 374 16.08.1993
KULJETTAJILLE 1374 3374 5374
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1015 AJO-OHJELMA 1016
VUORO MM IK IK SITRTYMINEN IK:STA RL:EEN VUORON 3
MUKANA KLO 20.31 ITAPAAN OHJAAMOSSA
2 14.55 - |15.01| - 15.56
VUORO RL RL
10 16.15 - |16.21| - 17.16
3 20.48| - 21.36
4 1725 - |47.31| =(K)18.16
6 21.48| - 22.36
11 18.15 - [18.21| -  19.06
RL MM IK
4 19.05 - [19.11| -  19.56
4 22.48|- 23.12 -(K)23.17
(K) =SUORITTAA KYTKENNAN NO. 47 (K) =SUORITTAA KYTKENNAN NO. 55
0.10 + 5.20 + 2.1 = 8,43
(14.36) 15.01 - 19.56 (20.26) 20.48 <= 323.17 {[23.39)

IK IK IK RL IK



METRON AJOSARJA 375 16.08.1993
“KULJETTAJILLE 1375 3375 5375
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1017 AJO-OHJELMA 1018
VUORO RL IK MM RL VUORO MM IK IK
(AUKIAJO 5.31 -)5.44 - 5.55 - 6.16 5 19.06] =  A2.6d
5
6 12.08 = [12.22] = 12.56
AVUSTAA RUOHOLAHDESSA KYTKENNOISSA
Mo, A5, 16; 17, 18 JA 18 7 13.06| - 14.01
SIIRTYMINEN ITAKESKUKSEEN RL
IK IK 9 14.05 - |14.11| -  14.26
6 g.836} = 1031
5.16 3.28 + 0.10 = 8.54
¢ BaAsy  EBisL = 19.31 00 0 %, P s 197 < 14.26 (14.29)
RL IK IK RL
METRON AJOSARJA 375 16.08.1993
KULJETTAJILLE _ 1375 3375 5375
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1019 AJO-OHJELMA 1020
VUORO RL IK VUORO MM IK IK
9 14.33| =(K)15.06 i 19.06| - 20.01
MM IK 12 20,08 = . gigoi
3 15.05 - |15.11| -  16.06 RL
11 16.25 - [16.31| - 17.26 9 21.05 = [2i.11} = 21.36
1 17.30 - |17.36| -(K)18.31 RL
(K) =SUORITTAA KYTKENNAN NO. 22 3 21.38| - 22.26
(K) =SUORITTAA KYTKENNAN NO. 43
(K) =SUORITTAA KYTKENNAN NO. 59 -> 6 22.38| -(K)23.26
6.10 + 4.08 + 4.30 = 8.49
(14,993 14:83 = 18131 (19.01) 19.06 - 23.26 (23.31)
RL IK IK RL



METRON AJOSARJA 376 16.08.1993
"KULJETTAJILLE 1376 3376 5376
ARKISIN / AIKAINEN VUORO

AJO-OHJELMA 1021 AJO-OHJELMA 1022
VUORO RL IK VUORO MM IK IK
1 5.48| -(K) 6.21 7 10,35 — |10.42] = 11.98
MM IK IK 9 j1.86| = 1231
g 6.25 - | 6.31| - 7.26
8 T 28 |- FeBL| = 8.26 8 1328 = 1a.231
3 8.25 - | 8.31] =(XK) 9.16
8 9.15 - | 9.21| -  10.06
‘K) =SUORITTAA KYTKENNAN NO. 5

(K)=SUORITTAA KYTKENNAN NO. 16

4.40 + 3.54 + 0.10 = 8.44
( 5.26) 5.48 - 10.06 (10.386) 1O.AL = 18.20 Pd.30)
RL IK IK IK
METRON AJOSARJA 376 16.08.1993
KULJETTAJILLE _ 1376 3376 5376
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1023 AJO-OHJELMA 1024
SUORITTAA KYTKENNAN NO 27 JA VUORO MM IK IK
AVUSTAA KYTKENNOISSA NO 28 - 36
10 18.56| - 19.51
SIIRTYMINEN VUORO 3:N MUKANA
ITAKESKUKSEEN KLO 15.13 4 19.56| - 20.51
VUORO MM IK IK RL
6 16.20 - 1&.26 = 17.7 ii2 20,58-= |&1.82| = Bl.ie
15 17.20 - 17.26 -(K)18.21 RL
9 21.28| = 22.16
(K) =SUORITTAA KYTKENNAN NO. 42 3 20.28] = 23.16
0.10 +  3.46 + 4.47 = §.43
(14.35) 15:26 =~ 18.21 (18.51) 18.56 = 23.16 (23.38)

RL IK IK IK RL



‘METRON AJOSARJA 397
KULJETTAJILLE 1377 3377
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1025
AVUSTAA KYTKENNOISSA NO. 3 - 8
SIIRTYMINEN ITAKESKUKSEEN
VUORO MM IK IK
5 8.35 - | 8.41| -(K) 9.26
10 9.25 - | 9.31| - 10.16
11 10.26 - i e

(K) =SUORITTAA KYTKENNAN NO. 18

16.08.1993
5377
AJO-OHJELMA 1026

VUORO MM IK IK
10 11.56| - 12.51
11 12,550~ (13.01] = 13.46
MM

7 13.55 - [14.01| =(K)14.45

(K) =SUORITTAA KYTKENNAN NO. 20

AVUSTAA KYTKENNOISSA NO. 21 - 25
5.26 324 4+  0.180 - 9.00
( 5.55) g4 = 11.2% (13.51) 11.56 - 14,45 (15.18)
MM IK IK IK MM
METRON AJOSARJA 377 16.08.1993
KULJETTAJILLE _ 1377 3377 5377
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1027 AJO-OHJELMA 1028
VUORO MM IK IK VUORO IK IK
o 1%:356 - T4.31 6 18.06 - 19061
6 14.36 -(K)15.31 1 19.16 - 3011
13 15.30 - [15.36 - 16.31 9 20.16 - 29533
4 16.30 - |[16.36 - p e B
(K)=SUORITTAA KYTKENNAN NO. 31
0.10 + 5.02 3.15 = 8.27
{1:2.29) 13.836 =  13.31 (18.01) 18.06 = 23,43 [B1.16)
IK IK IK IK




METRON AJOSARJA 378 16.08.1993
KULJETTAJILLE 1378 3378 5378
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1029 AJO-OHJELMA 1030
VUORO MV IK IK VUORO MM IK IK
6 5.58 - 6.06 - 7.0 1. 10.36 - 11,84
MM 2 31,35 = |1radl] = 12.26
4 7.00 - | 7.06| - 8.01
7 8.00 - | 8.06| -(K) 9.01 11 13.46| - 14.41
2 9.06| - 10.01
(K) =SUORITTAA KYTKENNAN NO. 10
4.08 4.26 4+ @18 = $.44
( 5.53) 5.58 - 10.01 (10.,5871) 10.36 - 14:41 (14.57)
MV IK IK IK
METRON AJOSARJA 378 16.08.1993
KULJETTAJILLE 1378 3378 5378
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1031 AJO-OHJELMA 1032
VUORO MM IK IK VUORO MM IK IK MV
8 14.15 - |14.21| -(K)15.16 2 16.45 - [16.51| —-(K)17.46
5 15.15 - |15.21| - 16.16 9 17.45 - |17.51| - 18.36
2 18.35 = 1i8.41) = 19.26
9 19.25 - [19.31| - 20.16
2 20.15 - |20.21]| -(K)21.06 - 21.11
(K)=SUORITTAA KYTKENNAN NO. 24 (K)=SUORITTAA KYTKENNAN NO. 37
(K)=SUORITTAA KYTKENNAN NO. 54
0.10 + 4.01 4.32 = 8.43
(12.15) 14.21 - 16.16 (16.46) L&.8L, = E1.11 12i.98]
IK IK IK MV



“METRON AJOSARJA 379 16.08.1993
"KULJETTAJILLE 1379 3379 5379
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1033 AJO-OHJELMA 1034
VUORO MV IK IK VUORO MM IK IK
7 6.08 — 6.16 - g% 8 11.46 - 1241
MM 10 12.45 - |12.81] = 13.36
il Z2:10 = | 7:16| = 8.11
9 8.10 - | 8.16] -(K) 9.11
3 9.16| - 2. 11
10 10.16| - 14, .44
(K)=SUORITTAA KYTKENNAN NO. 11
5.08 5.06 4 0.1 = H44
{6 03) 6:08 = 231,01 (1E:41) 11.46 - 13.36 (15.07)
MV IK IK IK
METRON AJOSARJA 379 16.08.1993
KULJETTAJILLE 1379 3379 5379
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1035 AJO-OHJELMA 1036
VUORO MM IK IK VUORO MM IK IK
3 13.25 - [13.31] =~ 14.16 12 17.36 = {17.41| ={K)18.26
5 14.26| -(K)15.21 A 18.25 - |18.31| - 19.16
12 19.15 - [19.21| - 20.06
8 16.05 - |16.11| - 17.06 ;! 20.05 - [20.11| =-(K)20.56
(K)=SUORITTAA KYTKENNAN NO. 25 (K)=SUORITTAA KYTKENNAN NO. 48
AVUSTAA KYTKENNASSA NO. 27 (K)=SUORITTAA KYTKENNAN NO. 53
0.10 + 5.08 3.25 =  8.43
(14..859). 3830 = 47.08 (17..36) 1Tl = 20.58. (21:01)
IK IK IK IK



METRON AJOSARJA 380 16.08.1993
'KULJETTAJILLE 1380 3380 5380
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1037 AJO-OHJELMA 1038
VUORO MV T® MM IK VUORO MM IK IK
8 6.14 - 6.19 - 6.30 - 7.31 8 10.06| - 11.01
MM IK IK 11 1108 = (1128 = 12086
3 7.30 - | 7.36| - B33 1 o752 00 1 S 5. P |
10 8.30 - | 8.36| ~—(K) 9.31 2 13.15 - |13.21| - 14.06
(K) =SUORITTAA KYTKENNAN NO. 17
3522 5,92 4, WO = B4l
( 6.09) 6.14 - 9.31 (10.01) 10.06 - 14.06 (15.13)
MV IK IK IK
METRON AJOSARJA 380 16.08.1993
KULJETTAJILLE 1380 3380 5380
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1039 AJO-OHJELMA 1040
VUORO MM IK IK VUORO MM IK IK MV
5 13.35 - |13.41| - 14.26 3 16.55 - |17.01| -(K)17.56
10 14.25 - |14.31| -(K)15.26 8 17.55 - |18.01| - 18.46
6 15.25 - |15.31| -  16.26 3 18.45 - |18.51| -  19.36
8 19.35 - |19.41| -(K)20.21
8+10+11 20.46 - 20.51
(K) =SUORITTAA KYTKENNAN NO. 29 (K) =SUORITTAA KYTKENNAN NO. 39
(K) =SUORITTAA KYTKENNAN NO. 50 JA
AVUSTAA KYTKENNOISSA NO. 51 JA 52
0.10 4+ 4.81 4.02 = 8L43
(11.55) 13.41 - 16.26 (16.56) 17581 = ‘20.51 {90.58)
IK IK IK MV



(K) =SUORITTAA KYTKENNAN NO. 26

(K) =SUORITTAA KYTKENNAN NO. 35

0.10 + 4.53
(11.53) 14.36 - 16.46
IK MV IK

METRON AJOSARJA 381 16.08.1993
KULJETTAJILLE 1381 3381 5381
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1041 AJO-OHJELMA 1042
VUORO MV IK IK VUORO MM IK IK
9 6.18 - 6.26 - T2 3 10.56| - 11.51
MM 5 1i.56" = [12u01| =~ ‘12.46
2 7.20 = | 7.26| =~ g.21 6 12.56| - 13.51
8 8.20 - | 8.26| =-(K) 9.21 i 13.56| - 14.51
5 9.26| =- 10.21
(K) =SUORITTAA KYTKENNAN NO. 15
4.08 4.26 + 0.10 = 8.44
(' 6:33) G188 = 10421 (10:51) 10556 = 14.51. 1£15.17)
MV IK IK IK
METRON AJOSARJA 381 16.08.1993
KULJETTAJILLE 1381 3381 5381
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1043 AJO-OHJELMA 1044
SIIRTYMINEN METROVARIKOLLE VUORO MM IK IK
“JORO MV IK IK 6 17.15 - |17.21| -(X) 18.06
4 + 12 14.36 -(K)14.46 —-(K)15.41 10 18.05 - |18.11] - 18.56
MM 6 18.55 - [19.01| - 19.46
12 15.45 - [15.51| -  16.46 12 19.55 - [20.01| -(K) 20.46

(K)=SUORITTAA KYTKENNAN NO. 45

(K) =SUORITTAA KYTKENNAN NO. 52

335 =
121 =

8.43

(17.16) 20.46

(20.51)

IK IK



“METRON AJOSARJA 382 16.08.1993
KULJETTAJILLE 1382 3382 5382
ARKISIN / ATIKAINEN VUORO

AJO-OHJELMA 1045 AJO-OHJELMA 1046
VUORO MV IK MM IK VUORO MM IK IK
10 6.24 - 6.29 - 6.40 - 7.41 10 11.05 — [11.21] = 11.56
MM IK IK 1 Y208 = 1364
5 7.40 - | 7.46| - 8.41 .| 13.05 - [13.11| = 13.56
] 8.40 - | 8.46| ~—-(K) 9.41
1 9.45 - | 9.51| -  10.36
(K) =SUORITTAA KYTKENNAN NO. 19

" + T o LU SR P 1) = 8.44
6.19) 6.24 - 10.36 (11.06) g A - 13.56 (15.23)
MV IK IK IK
METRON AJOSARJA 382 16.08.1993
KULJETTAJILLE 1382 3382 5382
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1047 AJO-OHJELMA 1048
VUORO IK IK VUORO MM IK IK
9 13816 - i 0 s Al 15.40 - |15.46 - 16.41
3 14.16 -(K)15.11 ;)72 16.40 - |16.46 - Ky W g |
2 17.40 - |17.46 - 18.41
8 18.46 - 19.41
10 19.45 - [19.51 -(K)20.36
(K)=SUORITTAA KYTKENNAN NO. 23 (K)=SUORITTAA KYTKENNAN NO. 51
0.10 + % P + 5.00 = 8 .43
(11.38) 43,16 = 1511 (15.41) 15.46 s 20,36 [20.41)

IK IK IK IK



METRON AJOSARJA 383
"KULJETTAJILLE 1383 3383
ARKISIN / AIKAINEN VUORO
AJO-OHJELMA 1049
VUORO MV IK MM IK
ity 6.34 = 6+39 = 6.50 = 7.51
MM IK IK
6 120 7.56 -(K) 8.51
8.56 = 9.5
9 9.56 = 10.51

(K)=SUORITTAA KYTKENNAN NO. 9

16,08 .,1993
5383

AJO-OHJELMA 1050

VUORO MM IK IK
7 11.26 = 12.21
5 12.46 = 13.41
10 15.20 = [15.26 = 16.21

4.22 5.10 + 0,10 = 9.42
( 6.29) 6.34 - 10.51 (11,21 2126 = 45.21 (1831
MV IK IK IK
METRON AJOSARJA 383 16.08.1993
KULJETTAJILLE _ 1383 3383 5383
ARKISIN / MYOHAINEN VUORO
AJO-OHJELMA 1051 AJO-OHJELMA 1052
VUORO MM IK IK VUORO MM IK IK
9 19,25 = |i2a31]l = 13«18 6 13.45 - [13.51| -  14.36
11 14.35 - [14.41| =-(K)15.36
4 15.35 - [15.41| - 16.36
1 16.35 - [16.41| - 17.36
3 17.50 - |17.56| - 18.51
(K) =SUORITTAA KYTKENNAN NO. 33
0.10 + 2.06 5.29 = 7.45
(11.10) d42.31 =  13.16 (igd6) ~ 13.5% = .ig.51 {18.1%)
IK IK IK IK




